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1. �$?� Least significance difference 
 2. �$?� Duncan*s multiple-range test 
 3. �$?� Student-Newman-Keuls test 
 4. �$?� Turkey*s alternate test 
 5. �$?� Scheffe*s test 
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�	6�� 1 4 6 8 6 7 8 10 8 6 11 
�	6�� 2 14 13 10 14 7 10 13 16 10 18 
�	6�� 3 7 8 10 7 8 10 11 12 14 15 
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�)�3#�?%�
��'2�
1)� Levene �#�)����G		#3?%���#���*

Descriptives

SCORE

10 7.4000 2.0656 .6532 5.9224 8.8776 4.00 11.00

10 12.5000 3.2745 1.0355 10.1576 14.8424 7.00 18.00

10 10.2000 2.8206 .8919 8.1823 12.2177 7.00 15.00

30 10.0333 3.4087 .6223 8.7605 11.3062 4.00 18.00

1.00

2.00

3.00

Total

N Mean Std. Deviation Std. Error Lower Bound Upper Bound

95% Confidence Interval for

Mean

Minimum Maximum

Test of Homogeneity of Variances

SCORE

1.097 2 27 .348

Levene Statistic df1 df2 Sig.
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ANOVA

SCORE

130.467 2 65.233 8.529 .001

206.500 27 7.648

336.967 29

Between Groups

Within Groups

Total

Sum of

Squares df Mean Square F Sig.

Multiple Comparisons

Dependent Variable: SCORE

Scheffe

-5.1000* 1.2368 .001 -8.3033 -1.8967

-2.8000 1.2368 .096 -6.0033 .4033

5.1000* 1.2368 .001 1.8967 8.3033

2.3000 1.2368 .197 -.9033 5.5033

2.8000 1.2368 .096 -.4033 6.0033

-2.3000 1.2368 .197 -5.5033 .9033

(J) GROUP
2.00

3.00

1.00

3.00

1.00

2.00

(I) GROUP
1.00

2.00

3.00

Mean

Difference

(I-J) Std. Error Sig. Lower Bound Upper Bound

95% Confidence Interval

The mean difference is significant at the .05 level.*. 
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�
��������������
��>������ F-test �&���=��
 8.5293 ��

�#�'&��#-���'�$�$��� .001 9����
)����� .01 �'������#*� 3 �	6���������	�����������#�)�������#�'&��#-���
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��������#�)�������#�'&��#-���'�$�$  ���	6����� 2 ���������	���'2������	6����� 1 

SCORE

Scheffe
a

10 7.4000

10 10.2000 10.2000

10 12.5000

.096 .197

GROUP
1.00

3.00

2.00

Sig.

N 1 2

Subset for alpha = .05

Means for groups in homogeneous subsets are displayed.

Uses Harmonic Mean Sample Size = 10.000.a. 

GROUP

3.002.001.00

Me
an

of
SC

OR
E
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12
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10

9

8

7



��
�!
 SPSS �3(�)��
�$��
���%1
)�2	80

'&��
#���
��')�������0��)�3#�?%1)�������
�
���#*�3����������#�'&��#-���'�$�$�#��

�()������
�
��1)��	6���#*� 3 ��������0��)�3#�?%�#� 9�����0������1
)��	���(*)��
�1)���


�$��
���%������
�
�� 


